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io LESOBBOBELNORES TEBORRBSLNDORES LESOBBOBELNORES TEBORRESLNORES
= = S AV 7 S HVE | = = S AV = S AV B2l =
’ 100kN/mM%# %% 1.00/ 000 ~ 3.12 149.72|3m%#8%%| 000 ~ 1.88 3.79 19.16]| 100kN/m%#B% 3% 1.00/ 10.98 ~ 82.00 149.72|3m%#8%%| 40.00 ~ 82.00| 3.79 19.16
Fh st 1.00/3.12 ~ 10.90 100.00| Zh k14t | 1.88 ~ 10.90[ 3.00 15.16 ZFh st 1.00] 5.00 ~ 1098 100.00| Zh kst | 500 ~ 40.00] 3.00 15.16
5 100kN/mM%# %% 1.00/ 000 ~ 298 147.38|3m%#8%5| 000 ~ 1.82| 3.76 18.98| 100kN/mM%i#B% % 1.00| 11.14 ~ 86.53 147.38|3m#%#B % 5| 40.00 ~ 86.53| 3.76 18.98
Fh st 1.00/2.98 ~ 10.77 100.00| Zhlu4t | 1.82 ~ 10.77[ 3.00 15.16 ZFh st 1.00] 500 ~ 11,14 100.00| Zh st | 5.00 ~ 40.00] 3.00 15.16
3 100kN/mM%# %% 1.00/ 0,00 ~ 3.09 149.22|3m#%#8%%|0.00 ~ 1.87[ 3.78 19.12]| 100kN/mM%#B% 3% 1.00] 11.02 ~ 89.40 149.22|3m%#8%%| 40.00 ~ 89.40| 3.78 19.12
Fh st 1.00/ 3.09 ~ 10.87 100.00| Zh 14t | 1.87 ~ 10.87[ 3.00 15.16 ZFh st 1.00] 5.00 ~ 11.02 100.00| Zh st | 500 ~ 40.00] 3.00 15.16
4 100kN/m%#B 2% 1.00{0.00 ~ 3.29 152.67|3m%#E%%(0.00 ~ 1.96| 3.84 19.40| 100kN/m%#8 % % 1.00| 10.82 ~ 95.27 152.67|3m%#8%%| 40.00 ~ 95.27| 3.84 19.40
Fh st 1.00/3.29 ~ 11,07 100.00| Zhlust | 1.96 ~ 11.07[ 3.00 15.16 ZFh st 1.00] 5.00 ~ 10.82 100.00| Zh st | 500 ~ 40.00] 3.00 15.16
5 100kN/m%Z#B 2% 1.0010.00 ~ 3.52 156.82|3m%#E%%| 0.00 ~ 2.07| 3.91 19.77| 100kN/m%#8% % 1.00| 10.64 ~ 96.51 156.82|3m%# % 5| 30.00 ~ 96.51| 3.91 19.77
Fh st 1.00/ 3.52 ~ 11.31 100.00| Zh k4t | 207 ~ 1131 3.00 15.16 Fh st 1.00] 5.00 ~ 10.64 100.00| Zh kst | 500 ~ 30.00] 3.00 15.16
6 100kN/mM%# %% 1.00/ 000 ~ 3.68 159.72|3m#%#8%5| 000 ~ 2.16[ 3.97 20.08| 100kN/m%# 2% 1.00| 10.56 ~ 97.74 159.72|3m#%#B % 5| 30.00 ~ 97.74| 3.97 20.08
ZFh st 1.00/ 3.68 ~ 1147 100.00| Zh b4t | 2.16 ~ 11.47[ 3.00 15.16 Fh st 1.00] 5.00 ~ 1056 100.00| Zh st | 500 ~ 30.00| 3.00 15.16
7 100kN/m%#B 2% 1.00{10.00 ~ 3.88 163.26|3m%#E %5 0.00 ~ 2.28| 4.07 20.55| 100kN/m#%# 25 1.00] 10.53 ~ 97.20 163.26|3m%EE % 5| 25.00 ~ 97.20| 4.07 20.55
Zhn st 1.00| 3.88 ~ 11.67 100.00| #h st [2.28 ~ 11.67| 3.00 15.16 Zhn st 1.00f 5.00 ~ 10.53 100.00] #hilst | 500 ~ 25.00| 3.00 15.16
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhnst ~ Fh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh st ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhnist ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#E#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#E#BZ % ~ ImEHEZD ~
st ~ Zh st ~ ZhLst ~ Zh st ~
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